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datal <- read.table(“interestrate. csv”, header=TRUE, sep=",")
dataltimeseries <- ts(datal, frequency=12, start=c(2001,1))
dataltimeseries

plot. ts(dataltimeseries)
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windows ()

acf(dataltimeseries)

windows ()

pacf (dataltimeseries)
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model datal <— auto.arima(dataltimeseries, trace=T, seasonal=F)
summary (model_datal)

windows ()

plot (forecast (model_datal))
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data2 <- read. table ("GDP. csv”, header=T, sep=",”")
data2timeseries <- ts(data2, frequency=1, start=c(1980))
data2timeseries

plot. ts(data2timeseries)
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windows ()

acf (data2timeseries)

windows ()

pacf (data2timeseries)
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model_data2 <- auto.arima(data2timeseries, trace=T)
summary (model_data2)

windows ()

plot (forecast (model_data2))



